Construire le tableau de signes de la
fonction f définie sur R par :
fx)=02x+6)(—0,5x + 2)

Construire le tableau de signes de la
fonction f définie sur R par :
f(x)=(—2x—6)(—3x + 6)

Construire le tableau de signes de la
fonction f définie sur R par :
f(x)=(2x—-10)(—0,5x — 3)

Construire le tableau de signes de la
fonction f définie sur R par :
fx) = (3x—6)(0,5x — 3)

Construire le tableau de signes de la
fonction f définie sur R par :
f(x) =(2x+8)(—3x+15)

Construire le tableau de signes de la
fonction f définie sur R par :
f(x)=(—3x—-6)(0,5x + 4)
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Construire le tableau de signes de la
fonction f définie sur R\{4} par :

(x) = 2x + 6
J) = =51

Construire le tableau de signes de la
fonction f définie sur R\{2} par :

Construire le tableau de signes de la
fonction f définie sur R\{—6} par :

2x — 10
f) =05 —3

Construire le tableau de signes de la
fonction f définie sur R\{6} par :

(x) = 3x — 6
J) =353

Construire le tableau de signes de la
fonction f définie sur R\{5} par :

(x) = 2x + 8
J) == 75

Construire le tableau de signes de la
fonction f définie sur R\{—8} par :

()_—3x—6
flx ~ 05x+4
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